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SECTION-A




Answer any FIVE Questions 

(5×8=40)
All questions carry equal marks
1. Explain the meaning of contract premium.
2. Show that under fully continuous premium. 
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3. What is meant by fully benefit reserves? State its essential features.
4. Write the retrospective formula in the computation of benefit reserves.
5. The annual benefit premiums for a fully discrete whole life insurance with a unit benefit issued to (x) are Πj= Πwj, where wj=(1+r). The rate r might be selected to estimate the expected growth rate in the insured’s income. Develop formula for hV when r=i. 
1. Explain in detail last survivor status.
2. State the mortality assumptions under Gompertz-Makeham’s laws.
3. In terms of single life probabilities nPx and nPy, express the probability that atleast one life will survive n years.  
SECTION-B




Answer any THREE Questions 

(3×20=60)
All questions carry equal marks

6. a) 
Derive an expression for fully continuous premiums.
(OR)
b)
If the force of mortality strictly increases with age, show that 
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7. a)
Discuss in detail paid-up insurance.
(OR)
b)
Derive the formula for fully discrete benefit reserves.
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8. a)
Obtain the differential equations for fully continuous benefit reserves. 
(OR)
b)
Describe benefits reserves at fractional durations.
4. a)
Explain the assumption of force of mortality under future life time distribution.
(OR)
    b)
The future life times T(x) and T(y) are independent, and each has the distribution defined 
by p.d.f. 




[image: image4.png]0.02(10-¢,0<t <10
0,  elsewhere

Fe) ={





Determine the joint p.d.f and survival function of T(x) and T(y)

5. a)
Distinguish between stationery population and stable population.  
(OR)
    b)
Write an explanatory note on the theory of population dynamics. 
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